

$\Delta.10$ $R = \{ (x,y) : 0 \leq x \leq 1, 2 \leq y \leq 3 \}$

$$\iint_R f(x,y) dx dy = \int_0^1 \int_2^3 f(x,y) dy dx =$$

$$\int_0^1 \left(\int_2^3 x^2 + y dy \right) dx = \int_0^1 \left[\frac{y^2}{2} + x^2 y \right]_{y=2}^{y=3} dx$$

$$= \int_0^1 \left(x^2 + \frac{5}{2} \right) dx = \left[\frac{x^3}{3} + \frac{5}{2} x \right]_{x=0}^{x=1} = \frac{1}{3} + \frac{5}{2}$$

$$= \frac{17}{6} = \int_2^3 \int_0^1 f(x,y) dx dy$$

$\Delta.13$ $\int_0^2 \int_0^{x^2} (x^2 + y + 1) dy dx =$

$$= \int_0^2 \left(x^2 \cdot y + \frac{y^2}{2} + y \right) \Big|_{y=0}^{y=x^2} dx =$$

$$= \int_0^2 \left(\frac{1}{2} x^4 + x^2 \right) dx = \left[\frac{1}{10} x^5 + \frac{x^3}{3} \right]_{x=0}^{x=2}$$

$$= \frac{3}{10} + \frac{1}{3} = \frac{19}{30}$$

'A szűkös

$f(x,y) = x^2 + y^2$

R: pópálya ABΓO

AA: $\langle x(t), y(t) \rangle = \langle 2, 0 \rangle + t \cdot \langle -1, 1 \rangle$

$R = A\Delta\Gamma + A\Gamma B = \left\{ \begin{array}{l} 2-x \leq y \leq x \\ x-2 \leq y \leq 4-x \end{array} \right\} + \left\{ \begin{array}{l} 1 \leq x \leq 2 \end{array} \right\}$

$\begin{cases} x(t) = 2-t \\ y(t) = t \end{cases} \Rightarrow x = 2-y$

$$\iint_R f(x,y) dx dy =$$

$$\int_1^2 \int_{2-x}^{4-x} f(x,y) dy dx +$$

$$\int_2^3 \int_{x-2}^{4-x} f(x,y) dy dx$$

$\Delta.30$ $\int_1^3 \int_0^2 \left(\frac{1}{2} + 2y + z \right) dy dz =$

$$= \int_1^3 (2 + 4 + 2z) dz =$$

$$= 5z + 2 \cdot \frac{z^2}{2} \Big|_{z=1}^{z=3} = 15 + 9 - (5 + 1)$$

$$= 2 \cdot 2 \cdot 2 \cdot \left(\frac{1}{2} + 2 \cdot 1 + 2 \right) = 4 \cdot 5 = 18$$

$\Delta.44$

$R = \left\{ \begin{array}{l} 0 \leq z \leq \sqrt{1-x^2-y^2} \\ -\sqrt{1-x^2} \leq y \leq \sqrt{1-x^2} \end{array} \right\} (z=0)$

$\sqrt{1-x^2} - 1 \leq x \leq 1$

$\int_{-1}^1 \int_{-\sqrt{1-x^2}}^{\sqrt{1-x^2}} \int_0^{\sqrt{1-x^2-y^2}} 1 dz dy dx$

$= \int_{-1}^1 \int_{-\sqrt{1-x^2}}^{\sqrt{1-x^2}} \sqrt{1-x^2-y^2} dy dx = ?$

$$f(r, \theta) = \sqrt{1-r^2}$$

$$R = \left\{ \begin{array}{l} 0 \leq r \leq 1 \\ 0 \leq \theta \leq 2\pi \end{array} \right\}$$

$$\begin{aligned} \int_0^{2\pi} \int_0^1 \sqrt{1-r^2} \cdot r \, dr \, d\theta &= \int_0^{2\pi} \frac{(1-r^2)^{3/2}}{3/2} \cdot \frac{1}{2} \Big|_{r=0}^{r=1} \, d\theta \\ &= \int_0^{2\pi} \left(0 - \frac{1}{3}\right) \, d\theta = \frac{2\pi}{3} \end{aligned}$$

Δ.45

$$\int_0^{2\pi} \frac{e^{r^2}}{2} \Big|_{r=0}^{r=1} \, d\theta = \int_0^{2\pi} \frac{e-1}{2} \, d\theta =$$

$$= (e-1) \cdot \pi$$